(3) RMi BT :ha
B> P SAT HmE oL TN—RY —
4, o | 1EA 5 5| < pi
) B
Rest 263 886| 106| 419 5| 98 84| 62| 160 6 2 2
Exni 15 62 0 8 0 1 28| 23 2
E=9llil 1 33 13 0 2 0 1
e 2 120 1 5 1 1 0 0 2 0 0
i = T 1 0 3 1 4 2 1 1 1
perhi 3 1| 195 2 16 4 2 0
ZE IRy T 1 18 20 4 *x% *ok
1EEM 9 1 2| 90 32 *
RRREYINI] 6 25 6 8 *
P45 -t 8 44 2 17 5 4 1 43 *
AT 183 18 1 13 2 3 0 0
Hx 1 153 2 2 1
FRPERT 6| 31 1 4
ZEF T 2
FH Ep Ry 1 1 0
% I 4 37 4 1 0 0 0
S lliEs) 136
TEREAS 50
=Pk 1 1 2
ENTILoy 3
RERT 65 1 0
Fpemy 10
KIS
VNODHT 7 14 5 15| 11 1
{3 1my 0 8 4 1 6
R e lT ok 1 ok
1) 1T 1 1 6 1 22 18] 25 1
Fegsila 2 2 15 3 3 3 3
B Jimy 14 16 ok
SRER ) 1 4 0 0 2
FEEFRT 13 4
Y5 --my 38 1 1 57 1 0
KA 7 1 7 5
=I5 51
SR T 10 2 5 18 * 12 1 * 1 *

HE1) WL Y BREHER - L 2WEERH D,
[0) IZHAZICTEZ 7220 b 00 (0. Shasli) . Z2MRIR/ER
EH20, A, BN, ZTOMORKIZBET 2RE LR 5700, HEEZ AL LRV LOIX

HE2)

R 3) 1R

el

FHe
%] & L7,

EE4) EFEEESH D3, BHEBS AR O Doy & LT,

BREE & — R

VAR NN By




